
FPT3000 - FUEL PRESSURE TEST SET ADD-ON

Parts Breakdown



Item: FPT3000

Description: FUEL PRESSURE TEST SET ADD-ON

 Items 7-10 can be purchased as an assembly when ordering part number D774400.Notes:

Figure No Part Number Description No. Reqd Warranty Code

1 D741110 HEX SCREWS FPT5000 2 D

2 BD71306 MITSUBISHII FUEL ADPT 1 D

3 BD71321 MITSUBISHII FUEL ADPT 1 D

4 D741111 HEX SCREW FOR FPT5000 2 X

5 BD61333 KIA FUEL PRESSURE ADAPTER SET 1 D

6 BD74851 ADAPTER F/DEAD HEAD PRESSURE 1 X

7 D760223 FORD FUEL ADAPTER CONNECT 2 D

8 BD41312 QUICK COUPLER 1/8 MNPT 1 X

9 BD41607 VALVE F/ FIT470A 1 X

10 BD12200 BLOCK ASSY F/FIT14 1 X

11 D774401 1/4 FML INLINE ADPT F/FPT50000 1 D

12 D774402 1/4 ML INLINE ADPT F/FPT5000 1 D

13 D774403 5/16 FML INLINE ADPT F/FPT5000 1 D

14 D774404 5/16 MLE INLINE ADPT F/FPT5000 1 D

15 D774405 3/8 FML INLINE ADPT F/FPT5000 1 D

16 D774406 3/8 MLE INLINE ADPT F/FPT5000 1 D

17 *DC74407 FEMALE SPRING LOCK ADAPTER 1

18 *DC74408 MALE SPRING LOCK ADAPTER 1

19 *DC74409 FEMALE VOLVO ADAPTER 1

20 *DC74410 MALE VOLVO ADAPTER 1

21 *DC74411 FEMALE INVERTED FLARE ADAPTER 1

22 *DC74412 MALE INVERTED FLARE ADAPTER 1

23 BD74853 FORD RIGHT ANGLE ADAPTER 1 D

24 BD74852 GM RIGHT ANGLE ADAPTER 1 D

25 BD74431 M6 X 1.0 BANJO BOLT ADAPTER 1 X

26 BD74432 M8 - 1.0 BANJO BOLT F/ FIT443A 1 X

27 BD74433 M10 X 1.0 BANJO BOLT FIT448 1 D

28 BD74426 M12 X 1.0 HONDA ADAPTER 1 D

29 BD74434 M12 X 1.25 BANJO BOLT W/ WASHR 1 D

30 BD74435 M12 X 1.5 BANJO BOLT ADAPTER 1 D

31 BD74471 14MM X 1.5 BANJO FITTING 1 X


